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1. ROAZ sinf, cos§ THERE. (S0, A1y, Bik27320%, CHk3 40 )

(1) sin(90° —6) (2)  cos(180° — )
(3)  sin20 (4)  cos20 (sinf DAHDAT)
(5)  sin? % (6)  cos? %
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2.

(1)

(3)

(5)

RDA% sinf , cosh THEE.

tan (90° — 0)

cos20 (cos® DHDHT)

sin? (90o — %)

(SH17 108, Af13 508, Bik3, Cikdsr30%)

(2)  tan(180° +6)

(4)  cos30 (cosh DADAT)

(6) sin? (180o — i)
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RETALN ZAEH AXR 01 BEES

RDOA%E sinf , cosh THRYE.

(1) sin(90° —0)
=cos 0

R A
{ sin (90° — ) = cos @
cos (90° — 0) = sinf

3) sin 26

= 2sin6cos@

(5) sin

[\V]
IS

1 —cos@

(SHka0®, AR145r, B2 301, Cilkdsr)

(2)  cos(180° —0)

= —cos @

R AP

{sm(180° —0) =sind
cos (180° — 0) = —cos b

(4)  cos20 (sind DHEDOAT)

=1—2sin?0
20
(6) cos 5
_ 1+ cos@
2
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2.

RDA% sinf , cosh THEE.
(1) tan(90° — 0)
 sin(90° — 6)
~ cos (90° —6)
_ cos 60
sin 6
(3)  cos20 (cos® DADKT)
=2cos?6 -1
o e O
(5)  sin (90 2)
_ 20
= cos® 5
_ 1+ cos 6
2

(SHh15310%, Af14350F%, B3, C#kdsr30%)

(2)

(4)

(6)
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tan (180° + 0)

= tané

sin @
cos 6

cos30 (cos DHDKT)

=4cos®6 — 3cosb

b A=Y
{00539 = 4cos®0 — 3cosb
sin30 = 3sinf — 4sin> 6
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